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R P | MRIRE AR 1400 | T | B 2

A 6 11 26 50 | 121,040 | 106,217 | 14,823

A A = 3| 1 2 5 17 19,932 | 17,385| 2,547
Arz| & 2| 2t 1 1 2 7 14,395 11,751 2,644
7l gy st 1 2 4 4 19,301 | 18,467 834
ERFR| SR 1 3 5 8 40,939 | 33,484| 7,455
Mapated o) 1 2 5 9 12,427 | 11,084 | 1,343
Kt 7)o} 1 1 5 5 14,046 | 14,046 -
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2A: IHFHL
M obFE FHDOIL S (&Y - SAIY/AAXE - DT

&e: SZTEIYH LF (&te &)

SR 19,931,547 17,384,518 2,547,029
= 257,370 166,404 90,966

= 10,233,000 10,233,000 0

I 1,013,000 1,013,000 0

T 8,428,177 5,972,114 2,456,063

FEE RO S (MY - SA0/8A 16,777,068 14,743,068 2,034,000
= 153,404 43,404 110,000

& 10,233,000 10,233,000 0

< 6,390,664 4,466,664 1,924,000

SZEZYH L3 534,516 208,516 236,000
= 110,000 0 110,000

S 424,516 298,516 126,000

EXZHEL dH 2SN 20,000 0 20,000
307 g12+01 ™ 20,000 0 20,000
02 eIZtBAME XS 20,000 0 20,000
OZJAEBXZMEL dWH 2EXE 20,000 0 20,000
AHONE & XNSgd A28 23,000 0 23,000
201 LEL2EH| 18,000 0 18,000
01 AR 22 10,000 0 10,000
OFHINE =AY 29 10,000 0 10,000

02 224l 1,000 0 1,000
OFHIIE =AY 2Y 1,000 0 1,000

03 A2 7,000 0 7,000
ORMMNERIAE =& 7,000 0 7,000

202 04l 5,000 0 5,000
012U AL 5,000 0 5,000
OTRMINE gRFN 5,000 0 5,000
LISALH AYAY =& 143,000 0 143,000
= 110,000 0 110,000

< 33,000 0 33,000

308 AtXIEtM SOl A 143,000 0 143,000
= 110,000 0 110,000

[ 33,000 0 33,000

01 HXEHBLEXS 143,000 0 143,000
o2=0 gzaF /i X 143,000 0 143,000

= 110,000 0 110,000

== 33,000 0 33,000

USHLHE AIYAIY FZ(2HEEXE) 50,000 0 50,000
308 XXM S0 ™ 50,000 0 50,000
05 XAtXISHH2HEE S 50,000 0 50,000
OF2E FHIAZAZ HASEHAAM 50,000 0 50,000
HEANE 3N 13,068,288 12,620,288 448,000




A ZHMEHL
A ohEE FMOIE S (&Y - SAIY/MANE - DS
&R MSEANE B (S HR)

Olop

= 10,233,000 10,233,000 0

& 2,835,288 2,387,288 448,000

S4dEANE 24 XE 949,000 799,000 150,000
308 AXIEHMSOIA 236,000 136,000 100,000

01 AXEHBLEES 236,000 136,000 100,000
OESAE N EAIRS EAZEN 100,000 0 100,000

403 XM EXH=01H 50,000 0 50,000

01 AXEH =22 xE 50,000 0 50,000
OHSAE ESAE £X 50,000 0 50,000
ESt2FIANE KL(IHEFXY) 298,000 0 298,000
308 XXM SO0IH 298,000 0 298,000

01 AXESHBNEES 298,000 0 298,000
OESHBEANE SHMY =& 298,000 0 298,000
SotZe|et AHINES 427,264 317,264 110,000
= 43,404 43,404 0

S 383,860 273,860 110,000

oA A QI Sotztel 243,100 133,100 110,000
303 Za= 10,000 0 10,000

01 Z&3 10,000 0 10,000
ositgtE e 25D 2SS 10,000 0 10,000

308 AtXIEHM SO ™ 130,000 30,000 100,000

01 IXENBMEES 130,000 30,000 100,000
OsIHYA & SotetE e AJEE K& 130,000 30,000 100,000
28350 & 2,747,000 1,507,000 1,240,000
Mol AatZel OIXESE =& 72,000 67,000 5,000
307 eizto| A 72,000 67,000 5,000

08 OIXtE2H 3 72,000 67,000 5,000
OMtAa3e Xz 0IXEA 72,000 67,000 5,000
NRI=8XN3MY =8 2,488,000 1,253,000 1,235,000
306 9= 2,470,000 1,235,000 1,235,000

01 &g 2,470,000 1,235,000 1,235,000
OUHEANY & 2,470,000 1,235,000 1,235,000
stgiolr )t A S (A SX/ = 8) 3,102,279 2,591,250 511,029
= 103,966 123,000 219,034

Il 1,013,000 1,013,000 0

=S 1,985,313 1,455,250 530,063

sl 24 2,548,279 1,997,250 551,029
= 43,966 43,000 966

Jl 1,013,000 1,013,000 0

S 1,491,313 941,250 550,063
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A
I‘IJ':H:
cHel:

ﬁﬂlx{i“u
ArIOI AT} = A EHE B (ALSI =X/ S)
Jlsel gs

SORXAAAR MNASHAY (2 D) 43,966 966

= 43,966 43,000 966

308 XX SISOl ™ 43,966 43,000 966

= 43,966 43,000 966

01 IIXSHBAEES 43,966 43,000 966

Os0{8 XSAAR HNASHANY 43,966 43,000 966

= 43,966 43,000 966

XS AAGES ol2dd AIY(IBIEFXR) 550,063 0 550,063

307 2I2H0| & 18,400 0 18,400

06 283 18,400 0 18,400
OLRATUNNAMNLARS ASIEEZ J|28

g§3 X 18,400 0 18,400

402 BIEXHE0| ™ 531,663 0 531,663

01 QI2tX=E X 531,663 0 531,663

O2SEAIIH A&, ZH X 531,663 0 531,663

T AI2S FEX 554,000 594,000 240,000

= 60,000 80,000 20,000

[ 494,000 514,000 20,000

XS ALY 83 435 A FX(21) 120,000 160,000 240,000

= 60,000 80,000 20,000

== 60,000 80,000 220,000

307 2I2t01 ™ 120,000 160,000 240,000

= 60,000 80,000 20,000

< 60,000 80,000 20,000

02 DIZHANEEZ 120,000 160,000 40,000

OXIY =AY 2 2435 AY FA 120,000 160,000 240,000

= 60,000 80,000 A20,000

[ 60,000 80,000 A20,000

HHSIZH (FME =) (OIEH/IIEH 52,200 50,200 2,000

J|23yl 52,200 50,200 2,000

2429 J|1=23| 52,200 50,200 2,000

201 LEt2 33,200 31,200 2,000

02 B3 2 3,200 1,200 2,000

O A2HI 2,000 0 2,000
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